QUESTION:

Why the selection of the t statistic and what is the result and conclusion of your find?

Sample mean = 78.47

Population mean = 81

Standard error of the sample mean = .898

n= 100

p value set at .05


Descriptive Statistics

	 
	N
	Minimum
	Maximum
	Mean
	Std. Deviation

	 
	Statistic
	Statistic
	Statistic
	Statistic
	Std. Error
	Statistic

	Percent Score
	100
	53
	99
	78.47
	.898
	8.983

	Valid N (listwise)
	100
	 
	 
	 
	 
	 



One-Sample Test   95%

	 
	Test Value = 81

	 
	t
	df
	Sig. (2-tailed)
	Mean Difference
	95% Confidence Interval of the Difference

	 
	 
	 
	 
	 
	Lower
	Upper

	Percent Score
	-2.816
	99
	.006
	-2.530
	-4.31
	-.75



One-Sample Test  99%

	 
	Test Value = 81

	 
	t
	df
	Sig. (2-tailed)
	Mean Difference
	99% Confidence Interval of the Difference

	 
	 
	 
	 
	 
	Lower
	Upper

	Percent Score
	-2.816
	99
	.006
	-2.530
	-4.89
	-.17


